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LAl =QA=0(G=23,..)F5%, Q=AUAUDU... T, HEENEDEHDEKES LD
P(AjUAU...) =P+ X2, P0) TF. -T2, P0) =0T, P()Z 07205 P{) =0
LahET,

2. 41 = AAy = B4, =0 (i =3,4,...) £ ¥5L, ARICEAE3I XD PAUBUDU...) =
P(A)+ P(B) + Y2, P(0) T, P(0)=0TEroitEhE L,

3. ANAC=0%DT, B=A° LB EORICHTIZO 5N, P(AUAS) = P(A) + P(AS) L4 D
$7, AUA=QTPQ) =1TTd»5, siHENE L,

4. ACBDLEB=AU(B-A)TY, AUB-A)=0%DT, boA» 5 P(B) = P(A)+P(B-A)
%D, P()Z0EH»6 P(A)SPB)LRDET,

5. AUB = AU(B—A) T, AN(B—A) =0 DT, ZORMED 2% 6 P(AUB) = P(AU(B—A))
P(A)+P(B—A)TY, —fi, B=(B-AUANB)T, (B-ANANB)=0%DT,
Bic P(B)=P(B—A)+P(ANB)TY, ZoMiA%2Ux5 &% ¥ %L, P(AUB) — P(B)
P(A)—P(ANB) &z, GEAINE L 7,
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